e

Second Year J ‘
First Term (</

Open Learning

E... Translation Department




Good morning everyone!
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There are several types of ]mkmgN

1) Coordinating conjunction
2) Subordinating conjunction
3) Transitions

1) The Coordinating Conjuncﬁons.

First, we will talk about independem 1 .
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‘The' second Example can’t stand a5 5 s i
the meaning'is incomplete. o

‘Example; It was raining heavily, (1

Example: When it started raming
ehlence becgyse

NO,W’ the coordinating conjunction is used (o combine
two mmdependent clauses and the resulting sentence is calleg
a Compound Sentence.

The Coordinating conjunction would therefore be
preceded by a comma.

"The Coordinating conjunctions are: for, and, nor, but, or,
yet, so (FAN BOYY9).
PS: if the coordinating conjunction is not followed by &

B} e s
independent clause. no comma follows and the SIS

considered a simple sentencc:
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Example: She rushed to the airport but couldn’l get there
in time to catch her flight.
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9) Subordinating conjunction:

These are comjunctions that precede dependent clauses
and link them with mdependent clauses to form Complex
Sentences.

The clauses determine what type of subordinating
conjunction to use.
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There are two types of dependent clauses:
A) Adverbial Clauses:

B) Adjective Clauses
A)Adverbial Clauses:

An adverbial clause 1s a dependent clause preceded by a
subordinate conjunction and functions as an adverb.

Adverbs typically answer the questions: When, Where, or
- Why in a sentence.

Example: When [ arrived at the railway station, the train
had already lcft.

subordinate /Gt Wliiue i dles o2Adverbial Clause
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B)Relative (Adjective) Clauses:

An adjective is used to modify a nonn by supplving details
about i,
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E 16,' + seed © puy my friend a present that jg nie
xampie: .
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"‘"T“I; dependent cause here 18 ‘relased to the i 5
difies resent’, by (he pronoun ‘that’; we call it a reJafyy,
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9 Transiton: ords that ;
Transitions arc linking words that serve to conne

independent sentences. Translation can appear at the
beginning of a sentence, the middle, or the end. Whereye;
they appea, they are set off from the rest of the sentence by
COMIMAS. Ny
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Puhctuation problems:

1) Fragments: |

A fragment is a phrase or part of a sentence which is
incomplete and can’t stand alone. It has to contam at least a
~ Subject and a Verb. Students sometunes make mistakes by
putting a period at the end of the fragment considering it a

_sentence.

Fragment
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There arc FOUR kinds of Fragments:

[ ]
A dependent clause: Ex. Because I overworked

e lA phrase without a verb without a tense: Ex. He gone [0
work

° /
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e A phrase without a subject: Ex. Went to college
~yesterday ELER L :

A noun phrase without a verb: Ex. A long- haul {light

The way to avoid these problems in punctuation could be
either of the following ways:

e Do not usc a dependent clause alone. Attach it to an
independent clausc: Ex. Because I am overworked, I can’t
go out for a picnic.

e Change the verb form to include a tense: Ex. He has
gone to work |

e Add a subject: Ex. I went to college yesterday.

o Add a verb and decide if the noun phrase subject needs
an object: Ex. A long-haul {light makes me sick. -

2) Run-on Sentence:

A run-on sentencc occurs when two independent clauses
follow each other without punctuation. Run-ons could be
separated and punctuated probably.
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3) Comma Splice:

A comma splice is used between two independent clauses.
In order to corrcct this kind of mustakes, we do the
following:

o Use a full stop rather than the comma.

e Use a semicolon instcad of the comma.

* Jomn the independent clauses by a coordinating
conjuriction.
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e Use a subordinate conjunction to turn one of the
clauses into a dependent one, and use proper punctuation.

Exercises: |
1) Combine the following pairs of sentences with an
appropriate coordinating conjunction.
Make sure to use a comma between the sentences.
- Twas overloaded with work. I didun’t go to the party.
& Answer: [ was overloaded with work; and/so I didn’t go
(o the party.

* kR
&5

- You can waich a mowvie at mght. You can listen to music

at night. | |
s Answer: You can watch a movie at night, and/or you

can listenn to music at 1ught,

* %k
£

- My brother loves to celebrate when he passes his
exams. He 1s far too busy to celebrate this vear.

& Answer: my brother loves to celebrate when he passes
his exarns, but he is far too busy to celebrate this year:

5* * %
- The roses in the garden are dving. Thev are not getting

enough water.
e Answer: (he roses i the garden are dving, for they are

not ge[[ing enougl! water.

- My photograph is not particularlv good. It 1s not too
bad to use for the passport.

& Answer: my photograph 1s not particularly good, yet/nor
it Is not too bad to usc lor the passport.

ng‘).“k
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9) Combine The following pairs of sentences by making
- onie an adverbial clause. Vary the position of the adverbial
clause and use a comma when necessary.

- The 17" of Apnl is Syria’s Dav of independence. We
do not have to go o work,

Answer: Smce the 17 of Aprl is Syia’s Day of
mdependence, we do not have to go to work.

% % %
&

- Fireworks arc always used for celebration on New
Year’s Eve. I do not like them.

Answer: fireworks are always used to celebration on New
Year’s Eve. However, I do not like them.

J:_Iz/\***

- There will be too many people in the world. People ‘
keep having babies. '

Answer: there will be too many people m the world
because pcople keep having babies.

* & %

- I was on the phone. My fricnd camc for a visit.

Answer: [ was ou the phone when my friend came for a
VISt

3) Combine the following pairs of sentences by making
one of them adjective clause. Make sure to place it
immediately after the noun it modifies and use commas if
needed.

- T went to visit an old [riend of mine. My friend 15 -
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Answer: I went to visit an old friend of nune who Is 1
hospital,

* %k
- We all went (o the airport to receive my brother. He
has been studying abroad for four years.

Answer: we all went to the airport to recerve my brother,
who has been studying abroad for four years.

® Rk

- My mother is fond of classical music. My mother is
gomg to concert toIMOITOW evening.
Answer: my mother is fond ol classical music; she 1s gomg
to concert of which ftomorrow evening.
' = * %%

- W e all celebrated Jane’s birthdav in a restaurant. It was
the only place we could all meet freely. :

Answer: we all celebrated Jane’s birthday 11 a - restaurant,
which was the only place we could all meet freely.

 4)Connect the following pairs of sentences by using a
suitable uansmonal word. Use appropriate punctuation

marks, | |
- E(’th has many kmds of attraction for tourists. There

are the Pyramids, the Sphinx, the Roval Cemeterv, and

many other historical sites.

Answer: Fgypt has mainy kinds of attraction for tourists, |
for there are the Pyramids, the Sphin, the Royal Cemetery,

and many other historical sies.

* % %

He had drunk too much last mght. M

moruing with a hangover.

mli«lmar.us 8 AL ANWAR



wer: he had drunk (oo much last  nigh
| f'sb th ewforc/tbus/as a result, he woke up with a hangover: :

* k&

Ttisdryin Syria in the summer. It is wet in the summer

in India.

Answer: 1t is dry m Syria m the swnmer. Howevery on the
other hand, 1t 15 WeL 111 the summner in India.

* k%

_ If you want to have a good holiday, you could go away
with friends. You need to come back home by the end of

Answer: if you want o have a good holiday, you could go
away with fitends. However, you need to come back home
by the end of next week.

1) The Paragraph :
A)Topic Sentence
“ B)Body (major support) (minor support)

C) Conclusion sentence.

9) The Essay : ‘ -
A)Introduction (THESIS STATEMENT)
B)Body (MULTIPLE PARAGRAPHS):

- Topic Sentence:

- Supporting Sentences (Major & Minor sentences)

- Conclusion sentence
C) Conclusion

__ (paragraph) sjuai yagal 842 yle gging JBall : dala dlanMa 25
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A)The Thesis Statement (gl )

- The essay has one main topic to disquss_al‘ld develop.

This is expressed in a sentence called the Thesis Statement.

The thesis statement in the ESSAY 1s similar to the topic

sentence in the Paragraph. Usually, thesis statement appears

last in the mtroduction.

ilaa b lals 1o . ighill g ddsliall ity A3l g909a Ao 92 Jlaadl

Thesis Statement . e

so topic scntencey sl Jiall jiThe Thesis Statement

» The Thesis Statement ili satail paragraph)) uedll padl
) . dosdall dulas

*******************

The Thesis Statement has two main parts:

* The Topic: which is the subject of the ESSAY.

*The Controlling Idea: which is the wriler’s attitude or
opinion about the topic '

Example: city living 1s hazardous (o a person ’s health.

City living: The Topic Sentence. v

s hazardous to a person’s health: 'The Controlling 1dea.

~ *Predictor:

The predictor is the part which tells the reader how many
body paragraphs the cssay includes and their main topics.

(paragraph) yuai pai p< (N pay gadl sl sa(predictor ) {uiiall
. 8yuaill yaguaill oda (pglic g Jliall gaje $gad hga

EXAMPLE: City living 1s hazardous to a person’s mental,

emotional, and physical health.
City living: The Topic Sentence.

Is hazardous to a person’s: The Controlling idea

ﬁ[alanwar.us 10 3 m\ 7
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Mental, emotional and physical health: Predictor.
- The predictor helps the reader predict the structure and

content of the ESSAY they are about to read.

g Gl JIEall (s9ina 9 JSams daitll le tglall aclu The predictor
.ol y81
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*Rules for the Thesis Staternent:
Every good Thesis Statement should follow certain rules:

1) A thesis statement should be expressed in a complete

Sentence.
DA thesis statement should be a Statement and not a

questlon
3) A thesis statement should not simply announce the

‘topic of the ESSAY; it should state the Controlling idea,

namely give an opinion or attitude.
4) A thests statement should not express a fact; it should

express an opinion or attitude.
5) A thesis statement should have one controlling 1dea if

~ there is more than one, the essay could lack wuty and

coherence.
Tl e :diuea aclys @i Of o s (thesis statement) Js.&s

L lelS dlan (e yusi O a1
| + Wguut Quaalg Alaa 9 Ol iy (2
J ge ppad o ca o Agauy JlEall ggaga e i ¥ gl oy (3
iiga gl sl) Llani Of a2 A izas « Controlling 1dea
e gl gl) (18 185 (Ol ey« aafin (32 083 ¥ O wiza (4
(e S elllia IS 136 « susly Controlling idea e g9a3 Of w24 (O
. agll 45183 f (S altiall Controlling idea

That s it for today, [hanK you everyone.
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